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QUESTION 1

You need to restore a large number of files from a Snapshot copy and grant users read/write access to the restored
data using CIFS. For comparison reasons, you must ensure that the currently active data in the volume is preserved.

Which restore method should you use to accomplish this task?

A. Use FlexClone to clone the volume, and specify the Snapshot copy from which to clone.

B. Use SnapRestore to restore the volume, and specify the Snapshot copy from which to restore.
C. Use NDMP to restore the data from the Snapshot copy back to the volume.

D. Grant users read/write access to the Snapshot copy in the snapshot folder of the CIFS share.

Correct Answer: B

QUESTION 2

Click the Exhibit button.
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csiptc—2240-091341002218::*> cluster ring show
Nods UnitName Epoch DB Epoch DB Trnxs Master Online

csiptc—2240-09

mgmt 29 29 102 csiptc-2240-09
master
csiptc—-2240-09
vl1db 26 26 3 csiptc—2240-09
secondary
csiptc—2240-09
vifmgr 53 53 37 csiptc—2240-09
master
csiptc—2240-09
bocomd 28 26 5 | csipte—-2240-09
master
csipte—-2240-10
mgmt 29 29 102 csiptc—2240-09
secondary
csipte—2240-10
vlidb 26 26 3 csiptc—2240-10
master
csiptc—2240-10
vifmgr 53 53 37 csiptc—-2240-09
secondary
csipte-2240-10
boomd 26 26 1 csiptc—2240-09
offline

On a ONTAP system, CLI commands for adding an initiator to an igroup on csiptc-2240-10 are failing, even when
attempted several times on node csiptc-2440-10. However, the command works on node 09. You can create a volume
on both nodes.

Referring to the exhibit, which two statements are true? (Choose two.)

A. vidb is functioning on both nodes.

B. The igroup cannot be created because the vigmgr is secondary on 10.

C. bcomd is causing the commands to fail.

D. mgmt is failing the operation.

Correct Answer: AD

QUESTION 3

You have severe database performance issues with a server connected to 8-Gb FC switches to storage. You know that
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the problem is not the storage because the QoS output indicates that the issue is outside the controller. You need to
examine each piece of the chain, such as switch port status and the host contribution to latency.

In this scenario, which NetApp product would provide the required information?
A. OnCommand Unified Manager

B. OnCommand Insight

C. SnapDrive

D. OnCommand Performance Manager

Correct Answer: D

QUESTION 4

You connect your cluster to a new pair of SAN switches and configure several LIFs for FC. You can see the cluster\\'s
physical port WWPNSs but are unable to see the LIF WWPNSs in the FC fabric.

How would you correct this issue?

A. Enable NPIV on the SAN switches.

B. Enable CNA mode on the physical NetApp ports.

C. Enable NPV on the SAN switches.

D. Enable Selective LUN Mapping (SLM) on the NetApp cluster.
Correct Answer: D

Reference: https://docs.netapp.com/ontap-9/index.jsp?topic=%2Fcom.netapp.doc.exp-fc-
cpg%2FGUID9D2AAC92-A160-4C01-B381-C6892342E071.html

QUESTION 5

You are provisioning a LUN for a server running Windows Server 2016.
In this scenario, which ONTAP LUN OS type should you use?

A. hyper_v

B. windows

C. windows_2008

D. windows_gpt

Correct Answer: B

Reference: https://thinksystem.lenovofiles.com/help/topic/san_administration_guide/M_DDA6B457-854443AC-92E8-D8
46A0BA7671_.pdf (22)
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